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1. Define power set of a Set.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_g1TJrucruCe1

2. Let A={1,2} and B={3,4}. Find the number of relations

from A to B.

o Watch Video Solution

3. Convert 240° into radian measure.

o Watch Video Solution

4. Solve the equation 2% + 3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_qwmOgTiiS8Rh
https://dl.doubtnut.com/l/_cZ01m6IeLg4u
https://dl.doubtnut.com/l/_oT8mKHiKAFII

5.Evaluate 7! — 5.

o Watch Video Solution

n—3
6. Write first three terms of the sequence a,, = i

o Watch Video Solution

7.Find the slope of the line 3z — 4y + 10 = 0.

o Watch Video Solution

) sinax
8. Evaluate lim ( ) )
z—0 bw



https://dl.doubtnut.com/l/_xrLW1BI3RFMN
https://dl.doubtnut.com/l/_5MkkkAOLp0OR
https://dl.doubtnut.com/l/_OA8Rdhup69UP
https://dl.doubtnut.com/l/_NKRt3A4aZBnl

‘ o Watch Video Solution

9. Write the negation of statement /2 is not a complex

number.

° Watch Video Solution

10. Describe the sample space for the indicated
experiments.
A coin is tossed three times and exactly one head

appears.

o Watch Video Solution



https://dl.doubtnut.com/l/_NKRt3A4aZBnl
https://dl.doubtnut.com/l/_XnXQrOSZU8zQ
https://dl.doubtnut.com/l/_QylMuN2em1BO

1If U=1{1,2,3,4,5,6,7,8,9}, 4 = {2,4,6,8 and

B ={2,3,5, 7} Verifythat: (AUB)" = A’ N B’

° Watch Video Solution

2. If X and Y are two sets such that n ( X) =17,n ( Y) =23,

andn(XUY) =38findn(XNY)

° Watch Video Solution

3. Find the domain and range of the following real

functions:


https://dl.doubtnut.com/l/_RkmX28fCFfbp
https://dl.doubtnut.com/l/_r4SToI8HgPER
https://dl.doubtnut.com/l/_GBdtmqIWJNQR

(i) f(z) = — |z|, (i) f(z) = V9 — z*

o Watch Video Solution

4.Find the value of sin 75°.

o Watch Video Solution

5. A wheel makes 360 revolutions in one minute.

Through how many radians does it turn in one second?

o Watch Video Solution

1+ 31

T o in the form a + %b.

6. Express


https://dl.doubtnut.com/l/_GBdtmqIWJNQR
https://dl.doubtnut.com/l/_nLtOYAX6PsJ7
https://dl.doubtnut.com/l/_FPvEbxaZQYt4
https://dl.doubtnut.com/l/_oOIJqOmjDoVE

o Watch Video Solution

7. Solve 3x — 2 < 2x 4+ 1. Show the graph of the

solution on number line.

o Watch Video Solution

8. Find the  angle between the lines

V3z+y=1and z+.3y=1

o Watch Video Solution

9.Find the distance between the points (1,-1) and (3,5) ?

| e |


https://dl.doubtnut.com/l/_oOIJqOmjDoVE
https://dl.doubtnut.com/l/_djipXTcUlENV
https://dl.doubtnut.com/l/_oXYZkVHTGisg
https://dl.doubtnut.com/l/_Zqx5n4kO66Na

| & Watch Video Solution J

10. Find the distance between the points (-3,7,2) and

(2,4,1).

o Watch Video Solution

) z3 — 222
11. Evaluate lim
t—2 \x2 -5 +6

o Watch Video Solution

12. Write the contrapositive and converse of the
statement. If two lines are parallel, then they do not

intersect in the same plane.


https://dl.doubtnut.com/l/_Zqx5n4kO66Na
https://dl.doubtnut.com/l/_MG8jNQ1u5sgw
https://dl.doubtnut.com/l/_HWBLQCFRlH34
https://dl.doubtnut.com/l/_FF62FmG54ye3

o Watch Video Solution

13. Coefficient of variation of distribution are 70 and the

standard deviation is 16. What is the arithmetic mean of

the distribution

o Watch Video Solution

14. One card is drawn from a well shuffled deck of 52
cards.If each out come is equally likely calculated the
probability that the card will be

(i) a diamond

(ii) not a diamond

| o Wiak~h \NiAdan CAaliikian



https://dl.doubtnut.com/l/_FF62FmG54ye3
https://dl.doubtnut.com/l/_zRzX6u8gf5a5
https://dl.doubtnut.com/l/_4R9ZxIpquvN2
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1. In a class of 35 students, 24 like to play cricket and 16

to play football. Also each student like to play atleast
one of the two games. How many students like to play

both cricket and football ?

o Watch Video Solution

2. Let fg: R — R be defined respectively by

f(z) =z + 1, g(x) = 2z — 3.Find f+g, f-g and i
g

o Watch Video Solution



https://dl.doubtnut.com/l/_4R9ZxIpquvN2
https://dl.doubtnut.com/l/_OaG8LCjydZjM
https://dl.doubtnut.com/l/_V69JusYeCvTS

3. Find the general solution of the

sin2x + cosx = 0.

equation

o Watch Video Solution

4.Express 1 + i+/3 in polar form

o Watch Video Solution

(3 — 2)(2 + 3i)
1+20)(2—1)

5. Find the conjuate of

o Watch Video Solution



https://dl.doubtnut.com/l/_V69JusYeCvTS
https://dl.doubtnut.com/l/_9nkuiDpSHy9t
https://dl.doubtnut.com/l/_i2eMtYvByVeI
https://dl.doubtnut.com/l/_eFa5rqVhQBU8
https://dl.doubtnut.com/l/_C3bqGDLZJfB2

6.Findr,if5 x *P. =6 x P, 1.

o Watch Video Solution

7.Using binomial theorem, compute (98)°.

o Watch Video Solution

8. If the sum of a certain numbe of terms of the AP. 25

22 19 ... is 116 . Find the last term .

o Watch Video Solution



https://dl.doubtnut.com/l/_C3bqGDLZJfB2
https://dl.doubtnut.com/l/_zVlTJdmbuRuC
https://dl.doubtnut.com/l/_ADQmIjS1YKM9

39
9. The sum of first three terms of a G.P is 10 and their

product is 1. Find the common ratio and the terms.

o Watch Video Solution

10. Find the co-ordinates of the fociecentricity and
length of the latus rectum of the hyperbola ?

9z% — 16y° = 144

o Watch Video Solution

11. Differentiate of sin & w.r.t. x from first principles

o Watch Video Solution



https://dl.doubtnut.com/l/_rmtNXM5wt8DA
https://dl.doubtnut.com/l/_rZdg2n7lAm1O
https://dl.doubtnut.com/l/_JYu19F686O9F

12. Verify by the method of contradiction P:./5 is

irrational.

o Watch Video Solution

13 If E and F are events such that

1 1 1
P(E) = 7 P(F) = ) and P(Eand F) = §.Flnd
P(E or F).

o Watch Video Solution

14. A bag contains 9 dics of which 4 are red ,3 are blue

and 2 are yellow .The discs are similar in shape and size


https://dl.doubtnut.com/l/_JYu19F686O9F
https://dl.doubtnut.com/l/_01LrFJxOup6r
https://dl.doubtnut.com/l/_8ZeKbZzo0kpm
https://dl.doubtnut.com/l/_07iaYU94xCyg

a disc is drawn at random from bag.Calculate the

probability that it be (i) red (ii) yellow (iii) blue ?

o Watch Video Solution

1. Define modulus function, draw the graph of it, write its

domain and range.

o Watch Video Solution

4 2
2. Prove that: C(,)S z C?S 3z + C,OS T = cot 3x
sindx + sin 3x + sin2x

o Watch Video Solution



https://dl.doubtnut.com/l/_07iaYU94xCyg
https://dl.doubtnut.com/l/_n7JhTqicr98p
https://dl.doubtnut.com/l/_5pobMhKQYBQs

PB+224+3 4+ . ... +nd= Vn € N.

o Watch Video Solution

4. Solve the inequalities graphically,

z+2y<82x+y<8z>0y=>0.

o Watch Video Solution

5. A group consists of 4 girls and 7 boys .In how ways

can a team of 5 members be selected ,if the team has ?


https://dl.doubtnut.com/l/_5pobMhKQYBQs
https://dl.doubtnut.com/l/_fPexUMmuXod7
https://dl.doubtnut.com/l/_p7hFBf8OFBfT
https://dl.doubtnut.com/l/_jCYvQXihAetA

(i) no girl
(ii) atleast one boy and one girl ?

(iii) at least three girls ?

o Watch Video Solution

6. Prove binomial theorem for positive integers

o Watch Video Solution

7. Derive the equation of a straight line having the
intercepts 'a’ & 'b' on the X ane Y-axes respectively.
Hence find the equation of the line intercepts -3 and 2

on the X and Y-axes respectively.

| e |


https://dl.doubtnut.com/l/_jCYvQXihAetA
https://dl.doubtnut.com/l/_3qdw6joqG1Ja
https://dl.doubtnut.com/l/_3cBWrIw4Hf3f

| & Watch Video Solution ]

sinx
8. Prove that lim ( ) = 1 (x being in radians )
z—0 T

. tanx
and hence Show that lim (z — 0)( " ) =1.

o Watch Video Solution

9. Find the mean deviation about the mean for the

following data.

Find the mean deviation about Ehe mean ror (e [oNoywing waea

Marks Obtained 1020 | 2030 | 3040 | 40-50 | S0-60 | 600 | 70-80
l[\lwhernfﬁludenu 2 3 8 | B 3 2

o Watch Video Solution



https://dl.doubtnut.com/l/_3cBWrIw4Hf3f
https://dl.doubtnut.com/l/_wdf2iVLqoZlj
https://dl.doubtnut.com/l/_VWc3WuzdJs2P

1. Prove that geometrically that

cos(x + y) = cosx. cosy — sinz. siny and hence show

that cos 2z = cos®>z — sin’ z.

o Watch Video Solution

2. Find the sum of the series, 7, 77, 777, 7777, ...........

to n tems.

o Watch Video Solution



https://dl.doubtnut.com/l/_IaGfeWvSNwWq
https://dl.doubtnut.com/l/_PYobaDs1H1Rk

3. Derive the equation of the ellipse in the

2 2
T Yy
Ztw -t

form

o Watch Video Solution

a1y = s?n:c + cosx ed dy
sinx — cos dz

o Watch Video Solution



https://dl.doubtnut.com/l/_dDpL8bXRIKor
https://dl.doubtnut.com/l/_25mmDRGxNDRn

